Englisch: Losungen

Buch S.60/2

1 wrong = He wants to do something different. But what? He has no idea.
2 right

3 wrong > They go to the Hoe. / They ride their bikes.

4 right

5 wrong = Jack goes first

6 right

7 wrong = Luca goes to the hospital

8 wrong = Luca isn’t happy

Buch S.60/3

On Thursday Luca has no idea for his birthday.
But his mum has a great idea: a concert!

On Saturday morning Luca is very happy.

The boys meet Jack’s friends at the Hoe.

Luca falls.

Luca has a problem with his leg.

Luca, Jack and mum go to the hospital.

Buch S.60/4

1 Adam, Ellie and Berry come to Luca’s house.

2 Lucais happy in the end. Adam, Ellie and Berry give him a CD of Francis and the Drakes.
3 No, he can’t go to the concert. But he can listen to the CD.

4 The end is a surprise for me oder: The end isn’t a surprise for me.

Bei 4 kannst du dich fiir einen Satz entscheiden!




